Multiplying and dividing by 10, 100 and 1000 – 1

Short cuts for whole numbers

Multiply by 10

Add one nought

Multiply by 100

Add two noughts

Note

10 has one nought Add one nought

Examples $27 \times 10 = 270$ 285 x 10 = 2850

Note

100 has two noughts Add two noughts

Examples 38 x 100 = 3800 427 x 100 = 42 700

Multiply by 1000

Add three noughts

Note

1000 has three noughts Add three noughts

Examples 64 x 1000 = 64 000 721 x 1000 = 721 000

Divide by 10

Remove one nought

Divide by 100

Remove **two** noughts

Divide by 1000

Remove three noughts

Note

10 has one nought Remove one nought

Examples $280 \div 10 = 28$

 $3600 \div 10 = 360$

Note

100 has two noughts Remove two noughts

Examples $700 \div 100 = 7$ $3800 \div 100 = 38$ Note

1000 has three noughts Remove three noughts

Examples $43\ 000 \div 1000 = 43$ $172\ 000\ \div\ 1000\ =\ 172$

28 ÷ 10 [See page 12] 70 ÷ 100 [See page 12]

Multiplying and dividing by 0.1, 0.01 and 0.001

Multiplying by		0.1	is the same as	dividing		by 10			
			0.01	is the same as	dividin	g	by 100		
			0.001	is the same as	dividin	g	by 1000		
Dividing by		0.1	is the same as	multiplying		by 10			
			0.01	is the same as	multiplyi	ing	by 100		
		0.001	is the same as	multiplying		by 1000			
Exampl	es								
2.8	÷	0.01		is the same as	2.8	Х	100	=	280
37.1	Х	0.1		is the same as	37.1	÷	10	=	3.71
4.8	÷	0.00)1	is the same as	4.8	Х	1000	=	4800
6.214	Х	0.01		is the same as	6.214	÷	100	=	0.06214
Squaring numbers less than 1									



Two numbers after the point in the question. Therefore two numbers after the point in the answer.



Four numbers after the point in the question. Therefore four numbers after the point in the answer.



Estimate the size of each angle



Foundation information sheet